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1. THE ECONOMY IN THE INTER-WAR YEARS 

 

1. Rearrange the words to make sentences about the post-war crisis. 

 

a) Products Europe economic by shortage and characterised of levels a experienced high a 

significant which crisis was debt of 

___________________________________________________________________________

___________________________________________________________________________ 

 

b) Hyperinflation notes German is the worthless needed basic known large that people bank 

to enormous the buy quantity of goods money amounts of the meant as 

__________________________________________________________________________

__________________________________________________________________________ 

 

c) Richest the Germany to decided industrialised of France the most area Ruhr and occupy 

__________________________________________________________________________

__________________________________________________________________________ 

 

2. Choose the correct option. 

a) In 1924, the United States applied the__________________ in Germany. 

· Dawes Plan 

· Roaring twenties 

· Consumerism. 

b) The world economy began to recover and grow steadily thanks to____________ by giving 

European countries loans and selling the consumers goods they lacked. 

· Japan 

· The United States 

· Germany 

c) ________________ grew again and sales of consumer goods such as cars and 

household appliances increased. 

· New forms of entertainment 

· The Dawes Plan 

· Consumerism 
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3. Name the main causes of the Wall Street Crash. 

__________________________________________________________________________

__________________________________________________________________________ 

 

4. Match the explanation of the consequences of the Great Depression of the 1930s. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

There was a decrease in the standard of living due to a fall in sales and lack of credit. 

Banks collapsed because of a lack of 

liquidity. 

Millions of people were forced to live off 

charity and government support. 

The world economy was affected 

Companies closed  

Wages fell and unemployment increased 

Generating discontent with the liberal 

capitalism system, which most people 

blamed for the crisis. 

because the United States reduced imports. 

Other countries, to save national production, 

adopted protectionist measures, such as 

increasing taxes on foreign products. 


